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General Instructions:

1.

This Question paper contains two sections:

Section A- Micro Economics
Section B- Statistics for Economics

2.
3.
4.

This paper contains 20 Multiple Choice Questions type questions of 1 mark each.

This paper contains 4 Short AnswerQuestions type questionsof 3 marks each to be answered in 60-80 words.
This paper contains 6 Short Answer Questions type questions of 4marks each to be answered in 80-100
words.

This paper contains 4 Long Answer Questions type questions of 6marks each to be answered in 100-150
words.

This paper contains total 34 Questions.

This question paper contains case study based questions.
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1. | The most fundamental economic problem is related to : (Choose the correct alternative) 1

(a) Scarcity of resources

(b) Unlimited human wants

(c) Both (a) and (b)

(d) Neither (a) nor (b)
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2. | Read the statements and choose the appropriate option from the given below: 1

Assertion (A): Production possibility frontier is downward sloping straight line.
Reason {R}: To gain an additional unit of one commodity, we have to sacrifice the same units of the
commodity.

(a) Both Assertion (A) and Reason {R} are true and Reason {R} is the correct explanation of Assertion
(A).

(b) Both Assertion (A) and Reason {R} are true and but Reason {R} is not the correct explanation of
Assertion (A).




(c) Assertion (A) is true but Reason {R} is false.
(d) Assertion (A)is false but Reason {R} is true.
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..................... is concerned with distribution of income among factors of production.
(a) What to produce
(b) For whom to produce
(c) How to produce
(d) None of these
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Ramesh is working at a salary of Rs. 35,000 per thousand. He receives two job offers:
(i) To work as an accountant at a salary of Rs. 30,000 per month.
(i) To work as sales manager at a salary of Rs. 25,000 per month.
His opportunity cost will be :
(a) Rs. 35,000
(b) Rs. 30,000
(c) Rs.25,000
(d) Rs. 20,000
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(a) 35000
(b) 230000
(c) 25000
(d) 20000
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The Budget set of a consumer changes when :
(a) Price changes
(b) Income of the consumer changes
(c) Both (a) and (b)
(d) Taste of the consumer changes
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Fill in the blanks :




Budget line of a consumer shifts rightwards if the consumer’s income............... but the prices of the two
goods remain constant.

(a) Increases

(b) Falls

(c) Remains constant

(d) Cannot say
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As total utility falls, marginal utility is :
(a) Positive and increasing
(b) Positive but decreasing
(c) Zero
(d) Negative
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Marginal utility can never be negative. (State True or False)
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The basis of law of demand is :
(a) Keynesian psychological law of consumption
(b) Law of supply
(c) Law of diminishing marginal utility
(d) Law of variable proportions
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Given other factors constant, as price of a commodity increases, the quantity demanded of the commodity

(a) Decreases

(b) Increases

(c) Remain constant
(d) None of the above
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At the point of intersection of two straight line demand curves, the flatter curve has :
(a) Greater elasticity




(b) Lesser elasticity
(c) Equal elasticity
(d) Zero elasticity
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When the % change in demand equals the % change in price, the price elasticity of demand in absolute
termsis:
(a) Zero (0)
(b) One (1)
(c) Infinity (=)
(d) -1
SteAT gfaerd aRade Ao 7 gfderd aRads & aueR g af AT & 7o o= g
(@) I
(b) T
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(d) -1
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Differentiate the change in demand and change in quantity demanded.
#rer & aRade vg Al 78 AT #F gRada & 3R ffFT |
Or3TYdr

Draw the market demand curve from the following data:

FATITT 3Miehal hl TEIAT ¥ JISIK AT dsh T TTeAT FITT:

PriceHed Demand by Sohan Demand by Rohan
S IRGECCIEAIC AT GaRT AT
5 1 2
4 2 3
3 3 4
2 4 5
1 5 6
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If a consumer has monotonic preferences, can he/she be indifferent between the bundles with (10, 8) and
(8,6). Why?
e 3TIFAT T rRATHRARI USRI g ol FIT dg d3a (10, 8)31R (8,6)h HLT 3Nl & Thdl &

? FT ?
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A lot of people have died and many factories and agricultural crops are destroyed because of
Russia-Ukraine war. How will it affect the production possibility frontier of Ukraine? Use diagram.

TAAT H Tl W& & Pehel Jool & HROT 3Helsh R d¢ 81 AT ¢ Td HHA 1 Hcd e
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Explain the central problem “how to produce.”

Th ol THETT “hal 3cUIGsT HY I SIIEAT HIfAT |
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How the changes in the prices of substitute goods will affects the demand of a commodity? Explain




forell aF] & TUET €] & Hedl H URdcle $T 3H TEJ HT AT G T GHE ST §?
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The price elasticity of demand of a commaodity is (-) 1. Calculate the percentage change in price that will
increase the demand of the commodity from 20 units to 30 units.

forell a&g 1 AT T Ho ol (-)18 | 39 a&q & Hed A dg Jfard qRdcel Ad HIioT
S8 38 a&q &1 ARl 78 AT 20 ShFAT F 30 SHISAT & S & |
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Explain any Four properties of indifference curve.
IATATT gk T fohegl IR fAAVATHT I TAEAR & IrEdr HiAT |

Or 3¥dr

(a) How is cardinal utility analysis different from ordinal utility approach?
(b) Mention the necessary conditions to attain Consumer’s equilibrium in case the consumer is
consuming two commodities.

(a) TEITATdS 3YIIRIAT fIIVUT e araes 39IIEIAr fagevor & Fd R e & ?
(b) Tfe IUHTFAT TE3MT T AT AT & ol STAIAAT fa2eIwor & TR T ITeercr
Aol & 3avyes Fufdar Idsv |

3+3
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The marginal utility schedule for goods x and y are given below. Both the goods are priced at Rupee 1 each
and income of Mohan is assumed to be Rs. 8. Determine how many units of both the commodities should
be purchased by Mohan to maximize his total utility.

X TG Y qEGHT @ WA STAEer FRo Ay & 78 § |

alel a3l T Hed 1§ qUT Higal I I8

39T ol IYAACT AT JHfAhRTH FIA & AT FAgeT FT Al TEI3HT AT hcklr AT F F7
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QuantityATT 1 2 3 4 5 6 7 8

MUx (x T HYHTed 3TN T3 11 10 9 8

7 6 |5 4
MUy (Y &t HidTed 39A1f3rdn) 19 17 15 13 | 12 [ 10 | 8 6

SECTION - B ( STATISTICS FOR ECONOMICS)
Tus - (3T & AT Fifeg)
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A single figure can be termed as statistics. (state True or False)

U Tehdl 3MThs I FITEIRT Fgl ST Thdl & ( FEr IT IJeld adT0)
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Functions of statistics include :
(a) Simplification of mass of figures
(b) Facilitation of comparison
(c) Providing means to predict future events
(d) All of the above

I & wraf &7 enfaer §
() 37hST T FCTEHIOT FIAT (b)eTeT & F FETAAT T&TeT el
(b)ﬂﬁwﬁgﬁﬁmmﬁwqﬁﬂﬂmm (c) 3Wad T@Hr
Or 3dr
Identify the limitation of statistics :
(a) Statistics does not deal with individuals.
(b) Statistics deals only with qualitative data.

(c) Statistics cannot be misused.
(d) Statistics is used for planning.




It H WA Sl ggarfav:
(a) TifETH cafFadl & Tafta =L & |
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Primary data is preferred over secondary data when:
(a) Time available is short
(b) Accuracy is important
(c) Sufficient finance is not available
(d) Much accuracy is not required

wTafAe st FF gfadiae Hids) W aadr & Jdr § o
(a) HAT AT A &
(b) 3RSt T AT 31T AgcaqoT g
(c) ST TATCT €T 3T T &l
(d) ST 37hsi @l G 3% FAgeaqol a1 &
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When the population under consideration is infinite, we should use :
(a) Sample method
(b) Census method
(c) Both (a) and (b)
(d) None of the above

SIS 37T &1F T AR 37eId 8l df & T eIl AIfe’:
(a) fdee fafer
(b) SteTeToTaT fafer
(c) 3WFT arr
(d) 3787 & I AL

Or 3dr
The quickest method to collect primary data is :
(a) Direct personal interview
(b) Indirect oral investigation
(c) Telephonic interview
(d) Mailing questionnaire

grfAe 31t faefier & 9Tcd it & 391 § ¢
(a) TcT&T STTFAICT HT&TchR
(b) 39cTaT AR T
(c) gAY HI&TTcshX
(d) TeATTN I Hel AT
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In random sampling :
(a) Sample is biased
(b) Procedure followed is very expensive
(c) Each item has equal chance of being selected
(d) Samples are not representative.

Iqrefeoed e afer & :

a) gfaeel garardr giar g

b) 3T 1S A it weifel gt &

c) Ycdh IHTSEH & oA STl T HAA FHIEAT §
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The study of heights and weights of a group of students is called :
(a) Uni-variate frequency distribution
(b) Multi-variate frequency distribution
(c) Bi-variate frequency distribution
(d) None of the above

faeaidat & @og &1 oerg 3R 0 & IETTA A Fed o
(a) U TG 3R faawor
(b) SETRIT 3MIRT FaRor
(c) &fa =g 3mgfa faeroT
(d) 318 & HIg A&
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Bar diagramisa :
(a) Two dimensional diagram
(b) One dimensional diagram
(c) Multi-dimensional diagram
(d) None of the above

¢3S 3INT §:
EERELICREE]
(b) T faeT =
(c)ats;ﬁ?:ﬁ'é:rﬁ‘ar
(d) o1 & g FET
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In a Pie / circle diagram, 1% is equal to :
(a) 36 degrees
(b) 0.36 degrees
(c) 10 degrees
(d) 3.6 degrees

T 1S A1C AT g BT A, 1% S gelr §
(a) 36 f3ar &
(b) 0.36 f3al &
(c) 10 f$alr &
(d) 3.6 f3al &
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Ogive is also known as :
(a) Frequency polygon
(b) Cumulative frequency curve
(c) Histogram
(d) Frequency curve

38T Tk & AT §
(a) e g
(b) T IRARAT dsh
(c) eErams
(d) 3mgf ash
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Read the statements and choose the appropriate option from the given below:
Assertion (A): Arithmetic mean can be located graphically.
Reason (R): averages help in making decisions and planning in various areas.
(a) Both Assertion (A) and Reason {R} are true and Reason {R} is the correct explanation of Assertion
(A).
(b) Both Assertion (A) and Reason {R} are true and but Reason {R} is not the correct explanation of
Assertion (A).
(c) Assertion (A) is true but Reason {R} is false.




(d) Assertion (A) is false but Reason {R} is true.

U 3T YT U HRUT Hl UTeT Ug JAIT [Thed &1 IIA HITAT ;
FYA: AR ATET & IrhT [T T @rr 31 aJar § |
FROT: 3TT T gAeT Jetar g [Affe &= 7 Ao o & foar Srar § |
(a) YT TAT HRUT GlAT el § Ud HROT HUA Sl gl ATEAT HIAT ¢ |
(b) YT TUT HROT GIAT FLT § JTUT HRUT HUT T TI ATEIT Aal HLT & |
(c) HUT T § o] PROT 318 B
(d) HUST 3T § ] PRUT T ¢ |
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Mention the importance of statistics.

JITETHT & Agcd HI gredr HifAw |

Or31yar
“Statistical methods are no substitute to common sense.” Explain.

“Treghr TSI AT AT FT FIs Ahed AgT §7 qredT HIfAT |
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Write down three merits and three demerits of Arithmetic mean.

AR ALY &3 07 TG 3 &1 M guied HIfAT |
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Explain Spatial classification and chronological classification with example.

TfAe qeffetor Ud FrahiAe Jeffaor 1 3ameier & FEEar ¥ THSST ||
Or 3Ydr

Discuss the features of a good questionnaire.

Teh 3TTST 9eATdell I [AAYAT §drsU |
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Look at picture below and answer the questions:

oA fET aTT o ol 38 3R & IRy 9eat o 3o SIfor:

What does the above picture show?

Which picture does show organised data?
Which data do you like and why?

FR feu I T & T f’g@mar s g

fora R & cyafeyd 3est &t @ srr g2
3. 39! it I TS UG & Ud FT?
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[
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Calculate Arithmetic mean from the following data :

eaAfaf@d 3merst I FgIar ¥ FHATAR AT &7 I0TAT HITAT

5 10 15 20 25 30 35 40

45

f 20 43 75 67 92 45 41 9




33 | Draw the frequency polygon with histogram from the following data: 6
fFfaf@a st 1 eradr @ Recane eart 3ngfd sgefst & Taer Hifv :
Class intervald@3T 37aRTel 0-10 10-30 30-40 40-60 60-70 | 70-80
Frequencymﬁ' 2 10 4 8 5 6
Or JAYar
(a) Write down the main parts of a table. 244
T aroflt & faffieeT 9wl &1 3eo@ RIS |
(b) Show the following information in the form of a pie chart:
& IS I H TH G AIE AT A O & ganT gafsv
Items of expenditurecad T EN?:I;U % of total expenditureshol cII I gfarerd
Food#TSTel 65
Clothingd¥d 10
Housing3TdTH 12
Fuel and Lightingéﬂ?—r Uq YTl >
Miscellaneous3ie=d 8
34 | (a) Differentiate census and sampling methods. 3+3

Serarurer fafer ug ufaesr R_fYr & 3jaw fifew

(b)What do you mean by statistical errors? Explain sampling and non-

sampling errors.

wifewrrr 3R & 3T o T & 2 9REd vd R afed IRe B @ |




